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FOANEHEE NEELINFA=2T 178% %75 F4.0m P ok
FOANEHEE NEELINFA=2T 178% 12100 £4.0m S Hobok
FOANEHEE NEELINFA=2T 7% 12150 &5.0m S Hobok
FOANEHEE NEELINFA=2T 178% 12200 &5.0m S Hobok
FOBANEHEE NEELINFA=2T 1788 12250 &5.0m & Hobok
FOAANEHEE NEELINFA=2T 178% 12300 £&6.0m S Hobok
FOANEHE NEELINFA=2T 178% 12350 £&6.0m & Hobok
FOANEHE NEELINFA=2T 178% 12400 £6.0m S Hobok
B4 NEHE NEELINFA=2T 178% 12450 £&6.0m A sohok
B4 NEHE NEELINFA=2T 1#8% 12500 &6.0m A sohok
B4 NEHE NEELINFA=2T 118% 12600 &6.0m P ok
B4 NEHE NEELINFA=2T 118% 12700 £6.0m A sohok
B A NEHE NEELINFA=2T 178% 12800 &6.0m A sohok
B A NEHE NEELINFA=2T 178% 12900 &6.0m P ok
B A NEHE NEELINFA=2T 1#8% 121000 £6.0m A sohok
B4 NEHE NEELINFA=2T 1% 121100 £6.0m A sohok
BOAANEEE NEELILSA=2Y 1EE #1200 FK6.0m X Fkok
BOAANEHE NEELILSA=2Y 1EE %1350 K6.0m X Hkok
BOAAINEEE NEAELILSA=2Y 1EE #1500 FK6.0m X Hkok
OB NEHEHRE NEELILSA=2YT 11E% 121600 £4.0m S , 420, 000
OB NEHEHE NEELILSA=2YT 11% 121600 &£5.0m S , 740, 000
OB NEHEHE NEELILSA=2YT 11E% 121650 £4.0m S , 490, 000
OB NEHEHRE NEELILSA=2YT 1% 121650 &£5.0m S , 840, 000
OB NEHEHRE NEELILSA=2YT 11% 121800 £4.0m S 1, 780, 000
O34 NEHE NEELILSA=2YT 17% 121800 &5.0m S 2,190, 000
OB NEEHE NEELILSA=2T 1EE 182000 £4.0m A 2,170, 000
FORANEEHE NEELIILZIA=VY 118% 122000 £5.0m A 2,670, 000
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BHOAANEHE NEELINLSA=VT 1.5/% %1600 &4 Om N -
BHOAANEHE NEELINLSA=VT 1.5% % %1600 £&5.0m N -
BHOAANEHE NEELILSA=VT 1.5% % 121650 &4.0m N -
BHOAANEHE NEELILSA=VT 1.5% % %1650 &5.0m N -
BHOAANEHE NEELILSA=VT 1.5% % 121800 4. 0m N -
BHOAANEHE NEELILSA=2VT 1.5% % 121800 £&5.0m N -
BHOAANEHE NEELILSA=VT 1.5/% %2000 4. 0m N -
BHOAANEHE NEELILSA=VT 1.5% % %2000 £&5.0m N -
BHOAANEHE NEELILSA=VT 2%BE 2400 £6.0m N Fkok
BHORANEHE NEELILSA=VT 20T 12450  K6.0m X okok
BHORANEHE NEELILSA=VT 2T 12500  K6.0m N Fokok
BHOBANEHE NEELILSA=VT 20T 12600  &K6.0m N Fokok
BHORANEHE RNEELILSA=VT 2EE 12700 K6.0m N Fokok
BHORANEHE RNEELILSA=VT 2T 12800  K6.0m N Fokok
BHORANEHE NEELILSA=VT 20T 2900 K6.0m N Fokok
BHOBANEHE NEELILSA=VT 20T 21000 &K6.0m N Fokok
BHOBANEHE NEELILSA=VT 20EE %1100 &K6.0m N Fokok
BHOBAINEHE NEELINLSA=2T 28T %1200 FK6.0m A Sk
BHOBAINEHE NEELINLSA=2YT 28T %1350 K6.0m A Sk
BHOBAINEHE NEELINLSAZ2YT 28T %1500 FK6.0m A Sk
BOAANEEE NEELILSA=2Y 2T 121600 £4.0m X . 260, 000
BOAANEHE NEELILSA=2Y 2T 121600 &£5.0m X . 550, 000
BOAANEEE NEELILSA=2Y 2T 121650 K4.0m X . 330, 000
BOAANEHE NEELILSA=2Y 2T 121650 &5.0m X _ 640, 000
BOAAINEEE NEAELILSA=2Y 2T 121800 K4.0m X . 550, 000
BOAANEEE NEELILSA=2Y 2EE 121800 &5.0m X , 900, 000
BOAAINEHE NEELILSA=2Y 20T %2000 £4.0m Z: , 920, 000
BHOBAINEHE NEELINLSA=2T 238% 122000 &5.0m X . 350, 000
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FOANEHEE NEELINFA=2T Kfiz 2.5%8% 21600 F&4.0m P -
FOANEHEE NEELINFA=2T Kfiz 2.5%8% 21600 &5.0m P -
FOANEHEE NEELINFA=2T Kfiz 2.5%8% 21650 F&4.0m P -
FOANEHEE NEELINFA=2T Kfiz 2.5%8% 21650 &5.0m P -
FOANEHEE NEELINFA=2T Kfiz 2.5%8% 121800 F&4.0m P -
FOBANEHEE NEELINFA=2T Kfiz 2.5%8% 21800 &5.0m P -
FOAANEHEE NEELINFA=2T Kfiz 2.5%8% 22000 F&4.0m P -
FOANEHE NEELINFA=2T Kfiz 2.5%8% 22000 &5.0m P -
FOANEHE NEELINFA=2T Kfiz 318% 75 R4.0m P ok
FORANGHE NEELZINTA=0T Kfiz 318% #2100 F4.0m A sohok
FORANGHE NEELINTA=0T Kfiz 318% 150 F&5.0m A sohok
B4 NEHE NEELINFA=2T Kfiz 318% #2200 FK5.0m P ok
FORANGHE NEELINTA=T Kfiz 318% #2250 K5.0m A sohok
FORANGHE NEELINTA=T Kfiz 318% #2300 FK6.0m A sohok
B A NEHE NEELINFA=2T Kfiz 318% #2350 FK6.0m P ok
FORANGHE NEELINTA=UT Kfiz 318% #2400 FK6.0m A sohok
FORANGHE NEELINTA=0T Kfiz 318% #2450 FK6.0m A sohok
OB NEHEHE NEELILSA=2YT Kfiz 3f8% 12500 &6.0m p: Hopk
OB NEHEHRE NEELILSA=2YT Kfiz 3f8% 12600 £6.0m p: Hohok
BOAAINEEE NEAELILSA=2Y Kftz & %700  FK6.0m X Hkok
OB NEHEHRE NEELILSA=2YT Kfiz 3f8% 12800 £K6.0m & Hohok
OB NEHEHE NEELILSA=2YT Kfiz 3f8% 12900 £6.0m p: Hopk
BOAANEEE NEELILSA=2Y Kftz & #1000 FK6.0m X Fkok
BOAANEHE NEELILSA=2Y Kftz & #1100 FK6.0m X Hkok
BOAAINEEE NEAELILSA=2Y Kftz & #1200 FK6.0m & Hkok
BOAANEEE NEELILSA=2Y Kftz 3tEE %1350 FK6.0m & Fkok
FORANEEHE NEELIILZIA=VY Kfiz 318% %1500 £6.0m p: Hopok
O34 NEHRE NEELILSA=2T Kfiz 318% #1600 &4.0m & 1, 160, 000
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BB IEHEHKE NEELZLSA=T Kitz 338% 121600 f5.0m x 1,420, 000
FOANEHEE NEELINFA=2T Kfiz 318% #1650 F&4.0m P 1, 230, 000
FOANEHEE NEELINFA=2T Kfiz 318% #1650 &5.0m P 1,510, 000
BB IEHEHKE NEELZLSA=VT Kft; 338% 121800 £4.0m x 1, 440, 000
FOANEHEE NEELINFA=2T Kfiz 318%  #£1800 &5.0m P 1, 770, 000
FOBANEHEE NEELINFA=2T Kfiz 318% 22000 F&4.0m P 1,810, 000
BB IEHEHKE NEELZLSA=T Kft; 338% 122000 £5.0m x 2,210, 000
FOANEHE NEELINFA=2T Kfiz 3.5%8% 21600 F&4.0m P -
FOANEHE NEELINFA=2T Kfiz 3.5%8% 21600 &5.0m P -
B4 NEHE NEELINFA=2T Kfiz 3.5%8% 21650 F&4.0m P -
B4 NEHE NEELINFA=2T Kfiz 3.5%8% %1650 &5.0m P -
B4 NEHE NEELINFA=2T Kfiz 3.5%8% %1800 F&4.0m P -
B4 NEHE NEELINFA=2T Kfiz 3.5%&% %1800 &5.0m P -
B A NEHE NEELINFA=2T Kfiz 3.5%8% %2000 F&4.0m P -
B A NEHE NEELINFA=2T Kfiz 3.5%&% %2000 &5.0m P -
FORANGHE NEELINTA=UT Kfiz 438% #2600 K6.0m A sohok
FORANGHE NEELINTA=0T Kfiz 438% #2700 FK6.0m A sohok
OB NEHEHE NEELILSA=2YT Kfiz 458% 12800 £K6.0m p: Hopk
OB NEHEHRE NEELILSA=2YT Kfiz 458% 12900 £6.0m p: Hohok
BOAAINEEE NEAELILSA=2Y Kftz 438 & %1000 FK6.0m X Hkok
BOAANEEE NEELILSA=2Y Kftz 438 & #1100 K6.0m & Hkok
BOAANEHE NEELILSA=2Y Kftz 438 & #1200 FK6.0m X Fkok
BOAANEEE NEELILSA=2Y Kftz 438 & #1350 K6.0m X Fkok
BOAANEHE NEELILSA=2Y Ktz 438 & #1500 FK6.0m X Hkok
OB NEHEHRE NEELILSA=2YT Kfiz 458% 121600 £4.0m S 1, 080, 000
O34 NEHE NEELILSA=2YT Kfiz 458% 121600 &5.0m S 1, 320, 000
OB NEEHE NEELILSA=2T Kfiz 418% #1650 &4.0m & 1, 150, 000
O34 NEHRE NEELILSA=2T Kfiz 418% #1650 &5.0m A 1, 400, 000
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FOANEHEE NEELINFA=2T Kfiz 438% 21800 F&4.0m P 1. 350, 000
FOANEHEE NEELINFA=2T Kfiz 438%  #£1800 &5.0m P 1, 650, 000
FOANEHEE NEELINFA=2T Kfiz 438% 22000 F&4.0m P 1, 630, 000
BB IEHEHKE NEELZLSA=VT Kz 458% 122000 £5.0m x 2,000, 000
FOANEHEE NEELINFA=2T Kfiz 4.5%8% -DA_ 12600 F6.0m S Hobok
FOBANEHEE NEELINFA=2T Kfiz 4.5 % -DA %700 &6.0m S Hobok
BB IEHEHKE NEELZLSA=T Kitz 4.5%%-DA %800 £6.0m & shokok
FOANEHE NEELINFA=2T Kfiz 4.5%8% -DA_ 12900 F6.0m S Hobok
BB IEHEHKE NEELZLSA=VT Kitz 4.5%%-DA %1000 £6.0m & shokok
BB IEHEHE NEELZLSA=VYT Kz 4.5%8%-DA %1100 £6.0m & otk
BB IEHEHE NEELZLSA=VYT Kz 4.5%8%-DA %1200 £6.0m & otk
B4 NEHE NEELINFA=2T Kfiz 4.578% -DA_ 121350 f6.0m A sohok
BB IEHEHE NEELZLSA=VT Kz 4.5%8%-DA %1500 £6.0m & otk
B A NEHE NEELINFA=2T Kfiz 4.578% -DA_ 121600 F£4.0m A 884, 000
B A NEHE NEELINFA=2T Kfiz 4.538% -DA_ 121600 f5.0m A 1,070, 000
B A NEHE NEELINFA=2T Kfiz 4.558% -DA_ 121650 F&4.0m A 943, 000
B4 NEHE NEELINFA=2T Kfiz 4.578% -DA_ 121650 f5.0m A 1, 140, 000
OB NEHEHE NEELILSA=2YT Kfiz 4. 558 % -DA %1800 f&4.0m S 1,110, 000
OB NEHEHRE NEELILSA=2YT Kfiz 4. 558 % -DA %1800 f5.0m S 1, 360, 000
OB NEHEHRE NEELILSA=2YT Kfiz 4. 558 % -DA %2000 f£&4.0m S 1, 350, 000
OB NEHEHRE NEELILSA=2YT Kfiz 4. 558 % -DA %2000 f5.0m S 1, 650, 000
OB NEHEHE NEELILSA=2YT Kfiz 5%8%&-DB 12600 6.0m p: Hopk
FHBAINEBHBE NEELINLFA=VYT Kz 5f8%-DB {2700 £6.0m &= bk
OB NEHEHRE NEELILSA=2YT Kfiz 5%8%&-DB 12800 f6.0m p: Hohok
OB NEHEHRE NEELILSA=2YT Kfiz 5%8%&-DB 12900 £6.0m & Hohok
BHRANEBHBE NEELINLFA=VYT Kfiz 5%%-DB 21000 £6.0m & bk
FORANEEHE NEELIILZIA=VY Kfiz 538%-DB %1100 {6.0m p: Hopok
FORANEEHE NEELIILZIA=VY Kfiz 538%-DB %1200 £6.0m p: Hopok
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BB IEHEHKE NEELZLSA=T Kz 5%%-DB %1350 f6.0m & shokok
FOANEHEE NEELINFA=2T Kfiz 5%8%&-DB 121500 f6.0m S Hobok
FOANEHEE NEELINFA=2T Kfiz 5%8%&-DB 121600 fF4.0m P 811,000
BB IEHEHKE NEELZLSA=VT Kz 5%%-DB %1600 f5.0m x 986, 000
FOANEHEE NEELINFA=2T Kfiz 5%8%&-DB 121650 F4.0m P 867, 000
FOBANEHEE NEELINFA=2T Kfiz 5%8%&-DB 121650 f5.0m P 1, 050, 000
BB IEHEHKE NEELZLSA=T Kz 5%%-DB %1800 £4.0m x 1, 000, 000
FOANEHE NEELINFA=2T Kfiz 5%8%&-DB 121800 f5.0m P 1,220, 000
FOANEHE NEELINFA=2T Kfiz 5%8%&-DB 122000 F4.0m P 1, 260, 000
FORANGHE NEELZINTA=0T Kfiz 538%-DB %2000 f5.0m A 1,530, 000
FORANGHE NEELINTA=0T TH 138%  #&75 F4.0m A sohok
FORANGHE NEELINTA=T TH 138% 100  F4.0m A sohok
FORANGHE NEELINTA=T TH 138% 150 K5.0m A sohok
FORANGHE NEELINTA=T TH 138% #2200 FK5.0m A sohok
FORANGHE NEENLZINTA=T TH 138% #2250 FK5.0m A sohok
FORANGHE NEELINTA=UT TH 138% #2300 FK6.0m A sohok
FORANGHE NEELINTA=0T TH 138% #2350 FK6.0m A sohok
OB NEHEHE NEELILSA=2YT THs 158% 12400  £6.0m p: Hopk
OB NEHEHRE NEELILSA=2YT THs 158% 12450 £6.0m p: Hohok
BOAAINEEE NEAELILSA=2Y TH 158E £500 FK6.0m X Hkok
OB NEHEHRE NEELILSA=2YT THs 158% 12600 £6.0m & Hohok
OB NEHEHE NEELILSA=2YT THs 158% 12700 £6.0m p: Hopk
BOAANEEE NEELILSA=2Y TH 158E %800 FK6.0m X Fkok
OB NEHEHRE NEELILSA=2YT THs 158% 12900 £6.0m p: Hohok
BOAAINEEE NEAELILSA=2Y TH 158E %1000 FK6.0m & Hkok
BOAANEEE NEELILSA=2Y TH 158E #1100 FK6.0m & Fkok
FORANEEHE NEELIILZIA=VY TH 138% #1200 £K6.0m p: Hopok
FORANEEHE NEELIILZIA=VY TH 138% %1350 £6.0m p: Hopok
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FOANEHEE NEELINFA=2T TH 138% #1500 £6.0m S Hobok
FOANEHEE NEELINFA=2T TH 138% #1600 &4.0m P 1, 470, 000
FOANEHEE NEELINFA=2T TH 138% #1600 &5.0m P 1. 800, 000
FOANEHEE NEELINFA=2T TH 138% #1650 &4.0m P 1,550, 000
FOANEHEE NEELINFA=2T TH 138% #1650 &5.0m P 1,900, 000
FOBANEHEE NEELINFA=2T TH 138% 21800 F&4.0m P 1. 860, 000
FOAANEHEE NEELINFA=2T TH 138%  #£1800 &5.0m P 2,270, 000
FOANEHE NEELINFA=2T TH 138% 22000 F&4.0m P 2,280, 000
FOANEHE NEELINFA=2T TH 138% 22000 K&5.0m P 2,780, 000
B4 NEHE NEELINFA=2T TH 1.5%8% 21600 F&4.0m P -
B4 NEHE NEELINFA=2T TH 1.5%8% 21600 F&5.0m P -
B4 NEHE NEELINFA=2T TH 1.5%8% 21650 F&4.0m P -
B4 NEHE NEELINFA=2T TH 1.5%8% 21650 F&5.0m P -
B A NEHE NEELINFA=2T TH 1.5%8% 121800 F&4.0m P -
B A NEHE NEELINFA=2T TH 1.5%8% 121800 K5.0m P -
B A NEHE NEELINFA=2T TH 1.5%8% 22000 F4.0m P -
B4 NEHE NEELINFA=2T TH 1.5%8% 22000 K5.0m P -
OB NEHEHE NEELILSA=2YT THs 258% 12400 £6.0m p: Hopk
OB NEHEHRE NEELILSA=2YT THs 258% 12450 £6.0m p: Hohok
BOAAINEEE NEAELILSA=2Y TH 258 & £500 FK6.0m X Hkok
OB NEHEHRE NEELILSA=2YT THs 258% 12600 £6.0m & Hohok
OB NEHEHE NEELILSA=2YT THs 258% 12700 £6.0m p: Hopk
BOAANEEE NEELILSA=2Y TH 258 E %800 FK6.0m X Fkok
OB NEHEHRE NEELILSA=2YT THs 258% 12900 £6.0m p: Hohok
BOAAINEEE NEAELILSA=2Y TH 258 & %1000 FK6.0m & Hkok
BOAANEEE NEELILSA=2Y TH 258 & #1100 FK6.0m & Fkok
FORANEEHE NEELIILZIA=VY TH 218% %1200 £6.0m p: Hopok
FORANEEHE NEELIILZIA=VY TH 218% %1350 £6.0m p: Hopok
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FOANEHEE NEELINFA=2T TH 218% #1500 &6.0m S Hobok
FOANEHEE NEELINFA=2T TH 218% 21600 F&4.0m P 1,310, 000
FOANEHEE NEELINFA=2T TH 218% #1600 &5.0m P 1, 600, 000
FOANEHEE NEELINFA=2T TH 218% #1650 F&4.0m P 1. 390, 000
FOANEHEE NEELINFA=2T TH 218% #1650 &5.0m P 1, 690, 000
FOBANEHEE NEELINFA=2T TH 218% 21800 F&4.0m P 1, 620, 000
FOAANEHEE NEELINFA=2T TH 218% %1800 K5.0m P 1,980, 000
FOANEHE NEELINFA=2T TH 218% 22000 F&4.0m P 2,020, 000
FOANEHE NEELINFA=2T TH 218% 22000 K5.0m P 2,460, 000
B4 NEHE NEELINFA=2T TH 2.5%8% 21600 F&4.0m P -
B4 NEHE NEELINFA=2T TH 2.5%8% 21600 F&5.0m P -
B4 NEHE NEELINFA=2T TH 2.5%8% 21650 F&4.0m P -
B4 NEHE NEELINFA=2T TH 2.5%8% 21650 F&5.0m P -
B A NEHE NEELINFA=2T TH 2.5%8% %1800 F&4.0m P -
B A NEHE NEELINFA=2T TH 2.5%8% %1800 F&5.0m P -
B A NEHE NEELINFA=2T TH 2.5%8% %2000 F4.0m P -
B4 NEHE NEELINFA=2T TH 2.5%8% %2000 K5.0m P -
OB NEHEHE NEELILSA=2YT TH 3#E  #75 &4.0m p: Hopk
OB NEHEHRE NEELILSA=2YT THs 3fEE 12100 £4.0m p: Hohok
BOAAINEEE NEAELILSA=2Y TH 3tEEH %150 R5.0m X Hkok
OB NEHEHRE NEELILSA=2YT THs 3f%E 12200 &5.0m & Hohok
OB NEHEHE NEELILSA=2YT THs 3f%E 12250 £5.0m p: Hopk
BOAANEEE NEELILSA=2Y TH 3fEEH 300  FK6.0m X Fkok
OB NEHEHRE NEELILSA=2YT THs 3f%E 12350 £6.0m p: Hohok
OB NEHEHRE NEELILSA=2YT THs 3f%E 12400 £6.0m & Hohok
BOAANEEE NEELILSA=2Y TH 3tEEH #450 K6.0m & Fkok
FORANEEHE NEELIILZIA=VY THs 3f8%E 12500 £6.0m p: Hopok
FORANEEHE NEELIILZIA=VY THs 3f8%E 12600 £6.0m p: Hopok
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FOANEHEE NEELINFA=2T TH 318%E #2700 FK6.0m S Hobok
FOANEHEE NEELINFA=2T TH 318%E 2800 K6.0m S Hobok
FOANEHEE NEELINFA=2T TH 3% #2900 FK6.0m S Hobok
FOANEHEE NEELINFA=2T TH 318%E #1000 F6.0m S Hobok
FOANEHEE NEELINFA=2T TH 3% #1100 FK6.0m S Hobok
FOBANEHEE NEELINFA=2T TH 318%E #1200 FK6.0m S Hobok
FOAANEHEE NEELINFA=2T TH 318%E 21350 &K6.0m S Hobok
FOANEHE NEELINFA=2T TH 318%E #1500 FK6.0m S Hobok
FOANEHE NEELINFA=2T TH 3% #1600 F&4.0m S Hobok
FORANGHE NEELZINTA=0T TH 31&%E #1600 K5.0m A sohok
FORANGHE NEELINTA=0T TH 318%E #1650 F4.0m A sohok
B4 NEHE NEELINFA=2T TH 318%E #1650 F&5.0m P ok
FORANGHE NEELINTA=T TH 318%E %1800 FK4.0m A sohok
FORANGHE NEELINTA=T TH 318% %1800 K5.0m A sohok
FORANGHE NEENLZINTA=T TH 31&%E 22000 F4.0m A sohok
FORANGHE NEELINTA=UT TH 31&%E 22000 F5.0m A sohok
B4 NEHE NEELINFA=2T TH 3.5%8% 21600 F4.0m P -
FHBAINEBHBE NEELINLFA=VYT Th 3.5%8% 121600 f5.0m & -
BHRAINEHBE NEELINLIA=VYT Th 3.5%8% 121650 £4.0m & -
BHBAINEHBE NEELINLIA=VYT Thy 3.5%8% 121650 f=5.0m & -
BHRAINEBHBE NEELINLIA=VYT Th 3.5%8% 121800 f4.0m & -
FHBAINEBHBE NEELINLFA=VYT Th 3.5%8% 121800 f5.0m & -
FHBAINEBHBE NEELINLFA=VYT Th 3.5%8% 122000 £4.0m & -
BHRAINEHBE NEELINLIA=VYT Th 3.5%8% 122000 £5.0m & -
OB NEHEHRE NEELILSA=2YT THs 458% 12600 £6.0m & Hohok
BOAANEEE NEELILSA=2Y TH 438 E %700  K6.0m & Fkok
FORANEEHE NEELIILZIA=VY THs 458% 12800 £6.0m p: Hopok
FORANEEHE NEELIILZIA=VY THs 458% 12900 £6.0m p: Hopok
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FOANEHEE NEELINFA=2T TH 418% #1000 F6.0m S Hobok
FOANEHEE NEELINFA=2T TH 418% #1100 FK6.0m S Hobok
FOANEHEE NEELINFA=2T TH 418% #1200 £6.0m S Hobok
FOANEHEE NEELINFA=2T TH 418% #1350 K6.0m S Hobok
FOANEHEE NEELINFA=2T TH 418% #1500 F6.0m S Hobok
FOBANEHEE NEELINFA=2T TH 418% 21600 &4.0m S Hobok
FOAANEHEE NEELINFA=2T TH 438% 21600 K5.0m S Hobok
FOANEHE NEELINFA=2T TH 418% #1650 &4.0m S Hobok
FOANEHE NEELINFA=2T TH 438% #1650 K5.0m S Hobok
FORANGHE NEELZINTA=0T TH 418% %1800 F4.0m A sohok
FORANGHE NEELINTA=0T TH 438% %1800 F5.0m A sohok
FORANGHE NEELINTA=T TH 418% 22000 F4.0m A sohok
FORANGHE NEELINTA=T TH 418% 22000 F5.0m A sohok
B A NEHE NEELINFA=2T THs 4.538% -DA_ 12600 F6.0m A sohok
B A NEHE NEELINFA=2T THs 4.538% -DA_ 12700 FK6.0m A sohok
B A NEHE NEELINFA=2T THz 4.518% -DA %800 f&6.0m A sohok
B4 NEHE NEELINFA=2T THz 4.518% -DA 2900 F&6.0m A sohok
FHBAINEBHBE NEELINLFA=VYT THt 4.5%8%-DA 721000 £6.0m &= ook
BHRAINEHBE NEELINLIA=VYT THt 4.5%8%-DA 721100 £6.0m &= ook
BHBAINEHBE NEELINLIA=VYT THt 4.5%8%-DA 721200 £6.0m &= ook
BHRAINEBHBE NEELINLIA=VYT THt 4.5%8%-DA 721350 £6.0m &= ook
FHBAINEBHBE NEELINLFA=VYT THs 4.5%8%-DA 721500 £6.0m &= ook
OB NEHEHE NEELILSA=2YT THz 4.5%8% -DA %1600 F&4.0m S 877,000
OB NEHEHRE NEELILSA=2YT THz 4.5%8%-DA %1600 f5.0m S 1, 060, 000
OB NEHEHRE NEELILSA=2YT THz 4.5%8% -DA %1650 F&4.0m S 934, 000
O34 NEHE NEELILSA=2YT THz 4.5%8% -DA %1650 f5.0m S 1, 130, 000
FORANEHE NEELILSA=T THt 4.5%8%-DA 721800 £4.0m & 1,110, 000
FORANEHE NEELILSA=T THt 4.5%8%-DA 721800 &5.0m & 1, 340, 000
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BB IEHEHKE NEELZLSA=T TH 4.5%8%-DA %2000 £4.0m x 1, 360, 000
BB IEHEHKE NEELZLSA=T TH 4.5%&%-DA %2000 £5.0m x 1, 650, 000
FOANEHEE NEELINFA=2T THs 5%8%-DB 600 £6.0m S Hobok
FOANEHEE NEELINFA=2T THs 5%%&-DB 12700 F6.0m S Hobok
FOANEHEE NEELINFA=2T THs 5%%&-DB 12800 fF6.0m S Hobok
FOBANEHEE NEELINFA=2T THs 5%8%-DB 2900 £6.0m S Hobok
BB IEHEHKE NEELZLSA=T TH 5%@%-DB %1000 £6.0m & shokok
FOANEHE NEELINFA=2T THs 5%%&-DB 121100 fF6.0m S Hobok
FOANEHE NEELINFA=2T THs 5%%&-DB 121200 F6.0m S Hobok
B4 NEHE NEELINFA=2T THs 5%8%-DB 21350 f6.0m A sohok
B4 NEHE NEELINFA=2T THs 5%8%-DB %1500 f6.0m A sohok
FORANGHE NEELINTA=T THs 5%%-DB 21600 F4.0m A 807, 000
FORANGHE NEELINTA=T THs 5%%-DB 21600 fF&5.0m A 976, 000
FORANGHE NEELINTA=T THs 5% -DB 21650 F4.0m A 861, 000
FORANGHE NEENLZINTA=T THs 5%%-DB 21650 fF&5.0m A 1,040, 000
FORANGHE NEELINTA=UT THs 5%8%-DB 21800 fF4.0m A 1,010, 000
FORANGHE NEELINTA=0T THs 5%%-DB 21800 fF&5.0m A 1, 220, 000
OB NEHEHE NEELILSA=2YT THs 5% -DB 122000 fF4.0m S 1, 270, 000
OB NEHEHRE NEELILSA=2YT THs 5%8%&-DB 122000 f5.0m S 1, 540, 000
BHBAINEHBE NEELINLIA=VYT Kfz  5%&-DB 1300 £&6.00m &= ook
BHRAINEBHBE NEELINLIA=VYT Kfz  5%%-DB %350 £&6.00m &= ook
FHBAINEBHBE NEELINLFA=VYT Kfz  5%%-DB #2400 £&6.00m &= ook
FHBAINEBHBE NEELINLFA=VYT Kfz  5%%-DB %450 £&6.00m &= ook
BHRAINEHBE NEELINLIA=VYT Kfz  5%&-DB #2500 £&6.00m &= ook
BHBAINEHBE NEELINLIA=VYT TH  5%&-DB #2300 £&6.00m &= ook
BHRANEBHBE NEELINLFA=VYT THt  5%&-DB %350 £&6.00m & ok
OB NEEHE NEELILSA=2T T,  53%-DB 12400 &6.00m p: Hopok
O34 NEHRE NEELILSA=2T T,  53%-DB 12450 &6.00m p: Hopok




[ it &+ Al ]

SFI5E4LA

8. EH (BuEH

% # ® % By = & i
FOANEHEE NEELINFA=2T T#s  5%#-DB #2500 6. 00m S Hobok
BB IEHEHKE NEELZLSA=T Th DG #%1600 &4.0m x 787, 000
FOANEHEE NEELINFA=2T TH _ DC %1650 &4.0m P 844, 000
BB IEHEHKE NEELZLSA=VT Th DG #%1800 &4.0m x 993, 000
BB IEHEHKE NEELZLSA=T Th DG %2000 &4.0m x , 230, 000
FOBANEHEE NEELINFA=2T TH. DD %800 &6.0m S Hobok
BB IEHEHKE NEELZLSA=T TH DD #2900 &6.0m % ook
BB IEHKE NEELZLSA=T Th DD #%1000 4&6.0m % ook
BB IEHEHKE NEELZLSA=VT Th DD #%1100 4&6.0m % ook
B4 NEHE NEELINFA=2T TH DD #1200 £6.0m A sohok
B4 NEHE NEELINFA=2T TH DD %1350 §6.0m A sohok
B4 NEHE NEELINFA=2T TH DD #1500 f&6.0m A sohok
B4 NEHE NEELINFA=2T TH DD %1600 &4.0m A 758, 000
B A NEHE NEELINFA=2T TH DD %1650 &4.0m A 812,000
B A NEHE NEELINFA=2T TH DD %1800 &4.0m A 961, 000
B A NEHE NEELINFA=2T TH DD 22000 £4.0m A , 170, 000
B4 NEHE NEELINFA=2T Kfz DD %800 &6.0m A sohok
OB NEHEHE NEELILSA=2YT Kfz DD %900 6.0m p: Hopk
BHRAINEHBE NEELINLIA=VYT Kz DD %1000 £6.0m &= ook
BHBAINEHBE NEELINLIA=VYT Kz DD %1100 £6.0m &= ook
BHRAINEBHBE NEELINLIA=VYT Kfz DD %1200 £6.0m &= ook
FHBAINEBHBE NEELINLFA=VYT Kfz DD %1350 £6.0m &= ook
FHBAINEBHBE NEELINLFA=VYT Kfz DD %1500 £6.0m &= ook
OB NEHEHRE NEELILSA=2YT Kfz DD %1600 &4.0m S 746, 000
OB NEHEHRE NEELILSA=2YT Kfz DD %1600 4&5.0m S 901, 000
O34 NEHE NEELILSA=2YT Kfz DD %1650 &4.0m S 801, 000
OB NEEHE NEELILSA=2T Kz DD %1650 f&5.0m A 970, 000
O34 NEHRE NEELILSA=2T Kfz DD %1800 &4.0m & 939, 000
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BB IEHEHKE NEELZLSA=T Ktz DD #%1800 4&5.0m x 1,130, 000
BB IEHEHKE NEELZLSA=T KR, DD %2000 &4.0m x 1,130, 000
BB IEHKE NEELZLSA=T KR, DD %2000 &5.0m x 1, 360, 000
- EEOHG BHREH)

B84 EEBEREANS KRz 38R AL b - I L85 {275 # Hrk
B84 EEBEREANS Kiz#RemAL b - I L8 2100 # Hrk
B84 )\ EEBEREANR Kiz#RemAIL b - I L8 2150 # Hrk
B84 EEBEREANR Kiz#RemAL b - I L8 2200 # Hrk
B84 EEBEREANS Kiz#RemAL b - I L8 2250 # Hrk
B4 N GHEREESRM Ktz #RgmAsIL b - I L8 #2300 #A Horok
B4 N GHEREESRM Ktz #RgmAsIL b - I L8 #2350 #A Horok
B4 N GHEREESRM Ktz #RdmAsIL b - I L8 #2400 #A Horok
oA N GHEREESRM Ktz fRdmAsIL b - I L8 2450 #A Forok
oA N GHEREESRM Ktz #dmAsIL b - I 48 #2500 #A Forok
B4 N EGHEREESRM Ktz #RgmAIL b - I L8 #2600 #A Horok
B4 N EGHEREESRM Ktz #RgmAsIL b - IL8 2700 #A Horok
B4 N EGHEREESRM Ktz #RdmsIL b - I 48R #2800 #A Horok
FO A N GBHEREERG KRz #RemAIL b - I L8 2900 # bk
FO AN GBHEREERG KRz #RegAL b - S L8 121000 # bk
FO A N GBHEREERG Kz #RegAL b - ST L8 121100 # bk
FO A N GBHEREERG KRz #RegAL b - S L8 121200 # bk
FO A N BHEREERG KRz #RegAL b - S L8 121350 # bk
FO A N GBHEREERG KRz #RegAL b - S L8 121500 # bk
FO AN EHERESI R KRz #RegARIL b - STL8 21600 # 172, 000
FO AN EHERESI R KRz #REgARIL b - STL8 21650 # 180, 000
T3 AN EHERESI R KRz #RegARIL b - STL8 21800 # 206, 000
FOH A N BBEREERSR KRz #RaaAL b - S L8 22000 # 247,000
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S5 8 4 L EBEEME Kiz 600 60°  PEA iR & -
S5 8 4 L EBEEME Kiz 700 60°  EA iR ELE & -
S5 8 4 L EBIEEME Kiz 2800 60°  PNEA iR & -
S5 8 4 L EBIEEME Kiz 2000 60°  PNEA iR & -
S5 8 4 L EBIEEME Kiz 21000 60° A RuAAEELE & -
S5 8 4 L EBIEEME Kiz 21100 60°  PEARuAEELE & -
S5 8 4 L EBIEEME Kiz 21200 60°  PEARuAAEELE & -
S5 8 4 L EBIEEME Kiz 21350 60° A RuAAEELE & -
S84 L BB Kiz 21500 60° P& AusAE B % & -
S84 L BB Kz 600 30° A AR & -
S84 L BB Kis 2700 30°  EA AR B & -
S84 L BRI Kz #2800 30° A AR & -
S84 )L BE R Kz 900 30° A AR & -
S84 L BEEIE Kz 21000 30°  MEARMIESE & -
S84 L BE B Kis 1100 30°  MEA MRS & -
S84 L BE B Kz 1200 30°  MEARAIESE & -
O RA NGB IEME K#z #1350 30° HEAREEEE x -
O RA NGB IEME K#z #1500 30° HEAREEEE x -
5 OMVEE L £ T @15 i -
4 haq RS E B AR S8 TH #&100 #H -
4 haq RS E B AR £ 8 TH #&150 #H -
4 haq RS E B AR S8 TH #&200 #H -
4 haq RSk E B ARS8 TH #&250 #H -
5 SRS BRI S8 (2E %A F) ki 275 i -
5 SRS BRI S8 (2E %A F) Kiz #2100 h -
5 SRS BRI S8 (2E 4 A F) Ki 2150 1 -
5 SRS BRI S8 (2E 4 A F) Kiz 2200 1 -
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5 B E MR S8 (2B 8 ( F) Kl #2250 1 -
5 B E MBI SE (2B 8 ( F) Kiz #2300 1 -
5 B E MBI SE (2B 8 A F) Kiz #2350 1 -
5 B E MBI SE (2B 8 A F) Kiz #2400 1 -
5 B E MR SE (2E8 A F) Kl #2450 1 -
5 B E MBI SE (2B 8 A F) Kiz #2500 1 -
5 B E MBI SE (2B 8 A F) Kiz #2600 1 -
5 s E MBI SE (2B 8 ( F) Kiz #2700 1 -
5 B EMER S8 (2B 8 ( F) Kiz #2800 1 -
5 SRS EE I S8 (2E 4 A F) Kiz #2900 1 -
5 D3R AR 2 5 Th 50 1 -
5 D3R FEE R 2 5 Th @15 1 -
5 D3R FEE R 2 5 Th #2100 1 -
5 D3R FBE R £ 5 Th 2150 h -
5 D3R FIBE R 2 5 T #2200 1 -
5 D3R FBE R 2 5 Th #2250 1 -




